Attachment 7

ATTACHMENT 7

Annual Franchise Statement (Public and Private) for Terracore Operating Company LLC

Exhibit B Verified Statement

This statement is being filed in accordance with the requirements of Section 7 of the franchise granted by Santa Barbara County Resolution No. 1750 & 5021

1) Private Franchise

I. Idle Produced Water Line:

Length of Pipeline in County Right of Way	Road	Status Idle/Active	Cost
15,408.8 ft	Cat Canyon	Idle	\$2,899.37

Total: \$2,899.37

II. Other Pipeline Crossings: \$3.00 per lineal foot

Length of Pipeline In County Right of Way	Road	Status Idle/Active	Cost
2689.88 ft	Cat Canyon	Active	\$8,069.64
50 ft.	Cat Canyon	Idle	\$150.00
485.46 ft.	Palmer	Active	\$1,456.38
266.65 ft.	Palmer	Idle	\$799.95

Total: \$10,475.97

Total Annual Franchise Fee: \$13,375.34

No adjustment for CPI until 2022

By my signature below, I certify, on behalf of Terracore Operating Company, LLC, that I am a manager or other responsible officer of Terracore Operating Company, LLC, and that the above information is true and correct.

Signature

Name

COO

Title

Crossing No.	Road Name	Length in RoW (ft)	Operating Status (Active/Idle)	Franchise Rate (per linear foot)	Franchise Rate Pe Pipeline
I	Cat Canyon	51.94	Active	\$3.00	\$155.82
I	Cat Canyon	51.94		\$3.00	
1		51.94	Active Active		\$155.82
	Cat Canyon			\$3.00	\$155.82
<u>I</u>	Cat Canyon	51.94	Active	\$3.00	\$155.82
2	Cat Canyon	50	Active	\$3.00	\$150.00
3	Cat Canyon	50	Active	\$3.00	\$150.00
3	Cat Canyon	50	Active	\$3.00	\$150.00
3	Cat Canyon	50	Active	\$3.00	\$150.00
3	Cat Canyon	50	Idle	\$3.00	\$150.00
3	Cat Canyon	50	Active	\$3.00	\$150.00
3	Cat Canyon	50	Active	\$3.00	\$150.00
3	Cat Canyon	50	Active	\$3.00	\$150.00
4	Cat Canyon	49.75	Active	\$3.00	\$149.25
5	Cat Canyon	50	Active	\$3.00	\$150.00
5	Cat Canyon	50	Active	\$3.00	\$150.00
5	Cat Canyon	50	Active	\$3.00	\$150.00
5	Cat Canyon	50	Active	\$3.00	\$ 150.00
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$ 150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50 .26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50 .26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50 .26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50.26	Active	\$3.00	\$150.78
6	Cat Canyon	50 .26	Active	\$3.00	\$150.78
6	Cat Canyon	50 .26	Active	\$3.00	\$150.78
7	Cat Canyon	50.29	Active	\$3.00	\$150.87
7	Cat Canyon	50.29	Active	\$3.00	\$150.87
7	Cat Canyon	50.29	Active	\$3.00	\$150.87
8	Cat Canyon	50.25	Active	\$3.00	\$150.06
8	Cat Canyon	50.02	Active	\$3.00	\$150.06
9	Cat Canyon	50.31	Active	\$3.00	\$150.93
9	Cat Canyon	50.3 1	Active	\$3.00	\$150.93
9	Cat Canyon	50.31	Active	\$3.00	\$150.93
10	Cat Canyon	59.95	Active	\$3.00	\$179.85
10	Cat Canyon Cat Canyon	59.95		\$3.00	\$179.85
10	Cat Canyon Cat Canyon	59.95	Active	\$3.00	\$179.85
12	Palmer		Active		
13	Palmer Palmer	53.33	Active	\$3.00	\$159.99
		53.33	Idle	\$3.00	\$159.99
13	Palmer	53.33	Active	\$3.00	\$159.99
13 13	Palmer Palmer	53.33 53.33	Active Active	\$3.00 \$3.00	\$159.99 \$159.99

2) Public Franchise

Pipe Size	Lineal Foot	Base rate per lineal foot	Cost
8"	10,960	\$0.176	\$1,928.96
8"	10,960	\$0.176	\$1,928.96

Sub Total \$ 3,857.92

Adjusted for CPI 2020	\$ 4,014.66
	 12 No. 4 11 1 12 12 12 12 12 12 12 12 12 12 12 1

By my signature below, I certify, on behalf of Terracore Operating Company, LLC, that I am a manager or other responsible officer of Terracore Operating Company, LLC, and that the above

information is true and correct.

Signature

Name

Title